
Klant :

Omschrijving :

Tek nr :

O.Ref. :

Pachtgoedstraat 4        tel. 03-780.88.80
9140 - Temse                   fax. 03-780.88.90
info@alinco.be               www.alinco.be

U.Ref.: -

schaal   1:10

Getekend :  Gino

Datum : 21/03/2011

Aantal : 1 

Materiaal : rvs 316 K 320

Nabeh. : - 

Opm. : -

Gewicht :  489.01 Kgr

ALINCO

Frame & housing for valves

11-111865-1

A1

Rev C 

 2
27

 

 1695 

 1
14

 

 5
1 

 5 

 12,5 

B

B

D D

E E

A

A

 4
50

 

 1
00

5 

 5  5 

 191 

C

C

J

adjustable base

(min. scale height = 116mm)
(max. scale height = 140mm)

hoseclamps

M

Section B-B:
adjustable valve  55 

 162 

 1
83

,5
  6
7 

 252 

 1395 

 3
0 

 30 

 3
0 

 36  36 

 180 

 148,5 
 41 

 180 

N

P

O

Section C-C:

 3
40

 

 1395 

 482,5  670  482,5 
 36  36 

 3
82

 

 6
25

 

 1755 

K

QR Section D-D:

 802 

 6
02

 

 1
,5

 

Section E-E:

Platform scale 
800x600

 3
 

 7,5  7,5  400 

 495 

L

Section A-A:

removable coverplate

This design is suitable for 3 types of containers:

for bottles 2 liter & 1 liter (drawing 11-111865-1A)1.
for FFT's 4 liter (drawing 11-111865-1B)2.
for FFT's 2 liter (drawing 11-111865-1C)3.

Welding: TIG, entirely welded

Finishing: weldseams are surface grinded excluded 
the inside of the corners, including to restore the 
direction of grinding.

 44 

 6
0 

 5
1 

 44 

 2
 

 5
2 

Detail J  (1 : 5)
removable hose-guiding support

 pitch = 81 

 R4,25 

 2
2  3
9 

 12 

Detail K  (1 : 5)
hole for hose

 2
0 

 15 

 1
,5

 

 3 

 4
0 

Detail L  (1 : 5)
M4x10 din964 (16x)

plate mounted with:
bolt M6x15 din933 (4x)
blind rivet M6 (4x)

 35 

 
42

 

 
30

,5
 

Detail M  (1 : 5)

adjusting screw M8x40 din916 (machined)
M5x16 din916 (1x)

M5x4 din916 (3x)
 6

0 

 30 

 5
0 

 30 

Detail N  (1 : 5)

sliding blocks
material: EPDM
mounted with M5x50 din7991 (2x6)

Detail P  (1 : 5)

valves mounted with weldingbolts M4x6, 
washers M4 din125 and nuts M4 din934

 22 

 7
5 

 7
5 

 9
0,

5 

 77,5 
 

13,5 

 3
0 

 2
2 

 3,2 

Detail Q  (1 : 5)

 2
0 

 40 

 1
,5

 

Detail O  (1 : 5)

 6
5 

 77,5 

Detail R  (1 : 5)

REV. BESCHRIJVING DATUM
A 29/03/2011
B 29/03/2011
C 6/04/2011

F

8

E

D

C

B

A

G

H

J

K

L

M

7654321 9 10 11 12 13 14 15 16

91 2 3 4 5 6 7 8 10 11 12

K

G

A

B

C

D

E

F

H

J


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Section View B-B
	Section View C-C
	Section View D-D
	Section View E-E
	Section View A-A
	Drawing View11
	Detail View J (1 : 5)
	Detail View K (1 : 5)
	Detail View L (1 : 5)
	Detail View M (1 : 5)
	Detail View N (1 : 5)
	Detail View P (1 : 5)
	Detail View Q (1 : 5)
	Detail View O (1 : 5)
	Detail View R (1 : 5)


